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Y 3—hRTAHEE HH3FE8/18 ~

NESEE)
EXE1 | BRE2 | BNE1 | ENE2 | BNE3 | B0E4 | BNES
(BEAR8f1/NE) EOBERERESE 8| 5032 #i|10531 #n| 16765 w1 19,705 | 27,048 1| 30938 w#i| 36,217 wi
BB — B (EREE - SHRD) 18| 446 = 555 | 506 #| 665 =] 737 #| 806 =a| 874 =
SHALE Tt AR ARINOE T 18 6 6 #n 6 = 6 = 6 = 6 = 6 =
BRI SR BN | 18 0 =o Oss| 13| 13 s 13 =] 13 = 13 =o
|
€=ZN=1vR 11 =) BRE1 | BXIE2 | ENE1 | BNE2 | ENE3 | BNE4 | BNES
FESE Y — b B (REREEE - BHRD) X1 | 446 ws| 555 ws| 596 =] 665 =] 737 w| 806 w| 874 =
SHALE Tt AIRIARINIE T X 1 6 s 6 = 6 s 6 wo 6 s 6 wo 6 =
R SR EREIE | X 1 0 so O#a| 13| 13 ws| 13 =s| 13w 13 =
Conehl LA E S B X0.053) X1 | 15w 19uws 20w 23wl 25w 27w 29w
R NS B 0023 X1 | 10w 13w A4w] 16| 17w 1O ws 21w
L ER I RGO | a2t | 403 m| 612m 671 m| 746 m| 8256 M| o900 mM| 974 m|
+
(BE&/RE] BYIE1 | BEXIE2 | ENE1 | ENE2 | ENE3 | ENE4 | ENES
B 12650MXx3 1950 M | X 1 | 1,950 M| 1,950 M| 1,950 M| 1,950 M| 1.950 M| 1,950 M| 1,950 M
(EeEm) =g fekRE= 1170 M | x 1 | 1,470 M| 1,170 B[ 1,470 8| 1,470 @[ 1,170 M| 1,170 M@| 1,170 M
GRER) ZE= 855 |x1 | 855 m| 855 m| 855 Mm@ 855 M| 855 M| 855 M| 855 M@
BE 18 300 |x1 | s00m s00m 300m 300mM 300m@ 300 M@ 300 M
(551 ERR) f_— fekmE= 320M | x1 | 320M| 820m@| 320m| 320m| 320m 320 m 320 M
GRER) e 0m|x 1 0mM oM 0 0 A 0 M 0 A om
= 8% (18) 600M|x1 | 600 M| 600 M 600 @ 600 M 600 M 600 M 600 M
€320 =g fekmiE= 420 @ | x 1 | 420 M| 420 M| 420 M| 420 M| 420 M| 420 @| 420 M
GRER) gE= 370M@|x1 | 37om| 37om| 37om 370m 370mM 370M| 370 M@
BE B% (18) 1000 M | x 1 | 1,000 M| 1,000 M| 1,000 M| 1,000 M| 1,000 M| 1,000 M| 1,000
(E3ERD) [ fekmE= 820M | x1 | s20 M s20ml s20m|l s20ml s820m 820 m 820 M
GRER) ZE=  370M@|x1 | s7om| srom| 37om 370m 370mM 370M| 370 M
= 2% (18) 1300 M | x 1 | 1,300 M| 1,300 M| 1,300 M| 1,300 M| 1,300 M| 1,300 M| 1,300 M
(E3EER) i fekmiE= 820M | x1 | 820 M| s20mM s20m| s820m 820 Mm@ 820 @ 820 M
GRER) gE= 370 M| x1 | 3rom| 37om| 370om 370m 370mM 370M| 370 M
(& 5t) BRE1 | BXE2 | ENE1 | ENE2 | ENE3 | BNE4 | BNES
fERBER 1 8 |3613 M| 3732 M| 3791 M| 3866 M| 3945 M| 4,020 M| 4,094 M
(EERmE] R 1 8 |3298 M|3417 M| 3476 M| 3551 M| 3630 M| 3,705 M| 3,779 M
51 ) fERBER 181,113 M| 1,232 M| 1,201 M| 1,366 M| 1,445 M| 1,520 M| 1,594 M
R 18| 793 8| 912 @l 971 M| 1,046 M| 1,125 M| 1,200 M| 1,274 M
- fERBER 181513 M| 1,632 M| 1,691 M| 1,766 M| 1,845 M| 1,920 M| 1,994 M
R 18 |1463 M| 1,582 M| 1,641 M| 1,716 | 1,795 M| 1,870 M| 1,944 M
I fERBER 1 8 |2313 M| 2432 M| 2491 M| 2566 M| 2645 M| 2,720 M| 2,794 M
R 181,863 M| 1,982 A| 2041 M| 2116 B| 2195 M| 2270 M| 2344 M
T fERBER 1 8 |2613 B| 2732 A| 2791 M| 2866 M| 2945 M| 3020 M| 3094 M
R 18 |2163 M| 2282 M| 2341 M| 2416 B| 2495 M| 2570 M| 2,644 M
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